BX—Ik2 (A 4RHK

SH2F12A%
HESMETXRAKE ERKEHABRERRESE
KB 9:00
KERBRHERERSEZE (ERSFKS EXKHF R K ) )
e |KB|E E| pH [FLHV|EEE| %K |IB1tY| & £
SR & B (4> i |
c | ¢ | E me/l | mg/1 | mg/l | mg/1 | mg/I | mg/1 | BE)

1 & 8.9] 11.0 4.2] 17.87 18
2 & 11.5[ 11.1 5.7 7.82 21
3 = 10.8] 11.2 7.01 7.87 22
4 iR 10. 4 12.0 8.8 71.77 21
5 [55] 8.8] 11.1 9.8] 7.85 16
6 & 10.0f 11.3 9.6/ 7.80 20
Ji & 10.1f 11.1 6.2 7.80 18
8 & 10.0[ 11.2 5.5 17.81 21
9 = 10.5] 11.5] 12.6| 7.79 28
10 & 10.1f 11.5] 10.8] 7.79] 55.0[ 70.0 138 8.9 0.65 0.02 23
11 & 9.2 11.2] 10.8] 7.75 20
12 = 9.1 11.0 7.3] 1.76 20
13 & 10.0 16
14 & 13.5| 11.5] 15.6| 7.57 18
15 & 6.3] 10.3 5.9] 7.76 24
16 & 14.0 8.9 6.3] 7.72 31
17 & 2.8 1.7 6.1 7.77] 56.0/ 71.0 134 9.1 0.38] <0.02 20
18 & 3.2 8.0 7.0 7.66 18
19 & 16.0 1.5 5.6 7.74 17
20 & 5.0 7.8 5.0 7.75 12
21 & 3.8 7.0 4.8 7.78 9
22 & 5.1 1.2 3.1 7.74 14
23 & 4.8 7.0 5.9] 7.80 15
24 & 5.4 7.3 5.4 17.81 15
25 & 6.0 1.2 7.0 7.77 15
26 & 5.0 8.1 5.2 17.80 15
27 & 7.0 7.6 5.9] 7.72 13
28 = 7.0 1.2 5.2 1.71 10
29 iR 7.0 8.1 3.1 7.66 9
30 [55] 11.0 8.7 7.4 7.81 11
31 i 3.0 8.2 8.1 7.73 10

FEi5 8.2 9.4 7.0 7.77] 55.5| 70.5 136 9.0 0.52] <0.02

=BE 16.0[ 12.0| 15.6| 7.87| 56.0[ 71.0 138 9.1 0.65 0.02

= 1K 2.8 7.0 3.1 7.57] 55.0/ 70.0 134 8.9 0.38] <0.02




TM2F128%
REAETIXAKE KEABRBRBREE (ERFKS)
£ROKEERE 9:00

KERABBEREREE (ERFKS EaKith (B2 K ) )
e |KB|E E| pH [FLHV|EEE| %K |IB1tY| & £
SR & B (4> 5 |® %
C C E mg/l {mg/l [ mg/l [ mg/l | mg/l mg/|
1 & 8.9/ 10.9 2.2 17.43
2 & 11.5] 10.7 3.0 7.45
3 = 10.8| 10.8 2.5 7.42
4 & 10.4] 11.6 2.2 7.41
5 [55] 8.8/ 11.5 2.1 7.48
6 & 10.0] 11.5 2.1 7.40
1 & 10.1] 11.1 2.9/ 7.38
8 & 10.0] 10.8 2.8 7.49
9 = 10.5] 11.2 3.1l 7.40
10 & 10.1] 11.4 1.7 7.431 51.0/ 71.0 135 9.9 0.07] <0.02
11 & 9.2 11.0 2.7 7.40
12 = 9.1 10.9 2.9 7.41
13 & 10.0] 11.7 1.2 7.43
14 & 13.5] 11.4 1.7 7.34
15 & 6.3 10.3 2.7 7.46
16 & 14.0 9.0 2.3 17.32
17 & 2.8 8.2 2.7 7.39] 51.00 71.0 128| 10.0 0.08| <0.02
18 & 3.2 1.3 3.1 7.24
19 & 16.0 1.5 3.2 7.40
20 & 5.0 7.6 2.6/ 7.37
21 & 3.8 1.5 2.8 7.46
22 & 5.1 6.6 2.2 17.45
23 & 4.8 7.0 2.7 17.38
24 & 5.4 7.0 2.5 7.42
25 & 6.0 1.8 3.2 7.34
26 & 5.0 8.3 2.3 7.45
27 & 7.0 8.4 2.5 7.41
28 = 7.0 8.2 2.8 7.48
29 & 7.0 8.6 1.3] 7.29
30 5] 1.0 9.3 2.1 7.55
31 & 3.0 8.7 1.9 7.52
Ty 8.2 9.5 2.5 7.41] 51.01 71.0 132 10.0 0.08[ <0.02
xe 16.0] 11.7 3.2 7.55] 51.01 71.0 135/ 10.0 0.08[ <0.02
=K 2.8 6.6 1.2 7.24f 51.0/ 71.0 128 9.9 0.07] <0.02




